34188

Gebrauchsanweisung
fur Plattformwagen

Handpritschenwagen, Tischwagen, Kombiwagen,
Magazinwagen, Kastenwagen, Etagenwagen, Werksttickwagen

BEG GmbH
Presselstrafle 12
70191 Stuttgart

Germany




Gebrauchsanweisung

fur Plattformwagen

Handpritschenwagen, Tischwagen, Kombiwagen, Magazinwagen,
Kastenwagen, Etagenwagen, Werkstiickwagen

Allgemeine Anforderung

Der Plattformwagen muss in Ubereinstimmung mit den Angaben des Her-
stellers verwendet, instand gehalten und repariert werden. Er darf nicht ver-
andert oder mit Anbaugeraten ausgerustet werden, ohne sich davon zu
vergewissern, dass er immer sicher ist.

Zerlegte Gerate sind nach der beiliegenden Montageanleitung aufzubauen.

BestimmungsgemafRe Verwendung

Der Plattformwagen dient dem Transport von Lasten und Gutern.

Fur die Beladung und bei Nichtbenutzung des Gerates mussen die
Feststellboremsen betatigt sein. Um die Standsicherheit des
Plattformwagens nicht zu beeintrachtigen, muss dieser im
unbeladenen oder beladenen Zustand langsam und ruckfrei bewegt
werden.

Der Wagen darf nicht auf Fahrwegen mit einer Neigung >2% betrieben
werden, darunter ausschliel3lich unbeladen.

Bei der Beladung ist auf eine gleichmalige Lastverteilung zu achten.

Restrisiken

Gefahr beim Transport schwerer Lasten:

Die erforderlichen Krafte zur Handhabung des Plattformwagens variieren
mit der GroRRe der Last, dem Zustand des Bodens und dem Zustand des
Plattformwagens.

Bei nicht gesicherter Last besteht die Gefahr des Herabfallens!

Wartung

Alle aufgefuhrten Gerate sind wartungsfrei.

Verbotene Verwendung

— Ein Plattformwagen darf wegen der Méglichkeit der Uberlastung und eines
Verlustes der Kontrolle nicht auf Gefallstrecken verwendet werden.

— Die Deichsel darf nicht in den rechten Winkel gedreht werden, um den
Plattformwagen anzuhalten.

— Ein Plattformwagen darf nicht zum Transportieren von Personen verwen-
det werden.

— Ein Plattformwagen darf fur Verwendungen, bei denen die Gefahr einer
Uberschreitung der Nenntragfahigkeit besteht, nicht verwendet werden.

— Plattformwagen durfen nicht durch ein motorisiertes Fahrzeug gezogen
werden.




Navod k pouziti

plosSinového voziku

Rucné vedeny plosinovy vozik, stolovy vozik, kombinovany vozik,
vozik se zasobnikem, dodavka, etazovy vozik, vozik na obrobky

VSeobecné pozadavky

Vozik musi byt pouzivan, udrzovan a opravovan v souladu s udaji vyrobce.
Nesmi na ném byt provadény uUpravy a neni jej mozné dovybavovat
pfidavnymi zafizenimi.

Demontované pristroje je nutno smontovat dle pfilozeného montazniho
navodu.

Pouziti v souladu s uréenym ucelem

Valnik slouzi k dopravé naklad( a zboZi.

V pripadé, ze vozik nepouzivate, je nutno zabrzdit jej rucni brzdou.

Aby nebyla ovlivnéna stabilita voziku, musi byt jeho pohyb v nenaloZzeném
nebo nalozeném stavu pomaly a plynuly.

U naklonénych ploch nesmi sklon presahovat 2 % a vozik nesmi byt nalozen.
Je nutno dbat na stejnomeérné rozdéleni zatéze.

Ostatni rizika

Riziko pfi preprave tézkych bfemen:
Sily potfebné pro manipulaci s valnikem se liSi v zavislosti na velikosti
nakladu, stavu podlahy a stavu voziku.

Zakazané pouziti

- Vozik nesmi byt kvdli riziku pfetizeni a ztraty kontroly pouzivan na naklo-
nénych usecich.

— Oj nesmi byt nato€ena do pravého uhlu, aby bylo mozno valnik zastavit.

— Vozik nesmi byt pouzivan k prepravée osob.

—Vozik nesmi byt pouzivan pro ucely, pfi nichz existuje riziko prekroceni
jmenovité nosnosti.

— Voziky nesmi byt tazeny motorizovanym vozidlem.




Brugsanvisning

til ladvogne

Ladvogne m/traekstang, bordvogne, kombivogne, magasinvogne
kassevogne, reolvogne, veerktojsvogne

Generelt krav

Ladvognen skal anvendes, vedligeholdes og repareres i overensstemmelse
med producentens angivelser. Der ma ikke foretages eendringer pa ladvog-
nen og den ma ikke udstyres med yderligere redskaber, uden at man altid
forst kontrollerer om alt er sikkert.

Adskilte redskaber skal pamonteres iht. vedlagte monteringsvejledning.

Bestemmelsesmaessig anvendelse

Ladvognen er beregnet til transport af last og gods.

Sla bremserne til, nar vognen ikke er i brug.

For ikke at pavirke platformens stabilitet, skal denne i uleesset eller laesset
tilstand bevaeges langsomt uden ryk.

Pa skraninger ma haeldningen ikke overskride 2% og vognen ma ikke vaere
belaesset.

Sorg for at lasten er fordelt jeevnt.

Restrisici

Fare ved transport med tung last:
De nagdvendige kreefter til handtering af ladvognen varierer med lastens
starrelse, jordens/gulvets tilstand og ladvognens tilstand.

Forbudt anvendelse

- En ladvogn ma ikke anvendes pa nedadgaende terraen, da man pa grund
af muligheden for overbelastning kan miste kotrollen.

Traekstangen ma ikke drejes, sa den er retvinklet, for at stoppe ladvognen.
En ladvogn ma ikke anvendes til transport af personer.

En ladvogn ma kun anvendes, hvis der ikke er fare for at overskride dens
nominelle baereevne.

Ladvogne ma ikke treekkes gennem et motoriseret koretgj.




Instrucciones de uso

para vehiculos de plataforma

Camiones de caja abierta a mano, carros transportadores con mesa,
coches almacén, furgonetas, vehiculos con estantes, carros portapiezas

Demanda general

El vehiculo de plataforma tiene que usarse, mantenerse y repararse en con-
cordancia con las especificaciones del fabricante. No se puede modificar
ni equiparse con unidades adicionales sin haberse asegurado que dicha
modificacion esta exenta de peligro.

Los utiles desarmados se arman conforme a las instrucciones de montaje
adjuntas.

Uso conforme a su destino

El vehiculo de plataforma sirve para transportar cargas y mercancias.

Se tiene que poner el freno de mano al no usarlo.

Para no reducir la estabilidad del vehiculo de plataforma se tiene que mover
lentamente y sin dar tirones tanto si esta descargado como si esta cargado.
La inclinacion de la superficie no debe exceder un 2 % y el vehiculo de
plataforma tiene que estar descargado.

Ponga atencién en que la carga esté repartida de un modo homogéneo.

Riesgos residuales

Peligro al transportar cargas pesadas:

Las fuerzas requeridas para manejar el vehiculo de plataforma varian con la
magnitud de la carga, el estado del suelo y el estado del vehiculo de plata-
forma.

Uso prohibido

— No esta permitido usar un vehiculo de plataforma en pendientes a causa
de la posibilidad de una sobrecarga y de una pérdida del control.

— No esta permitido girar en angulo recto la lanza para detener el vehiculo
de plataforma.

— No esta permitido usar el vehiculo de plataforma para transportar perso-
nas.

— No esta permitido aplicar el vehiculo de plataforma para usos en el que
existe el peligro de que se exceda la capacidad de carga nominal.

— No esta permitido tirar del vehiculo de plataforma con un vehiculo moto-
rizado.

ES




Kayttoohje:

lavavaunut

Kasikayttoiset lavavaunut, tasovaunut, yhdistelmavaunut,
varastovaunut, laatikkovaunut, kerrosvaunut, tavaravaunut

Yleiset vaatimukset

Lavavaunuja on kaytettava, kunnossapidettava ja korjattava valmistajan
antamien ohjeiden mukaisesti. Niitd ei saa muuttaa eikd varustaa laitteilla
varmistumatta siita, ettéd niiden kayttd on siitd huolimatta turvallista.
Osiin puretut laitteet on koottava asennusohjeissa kuvatulla tavalla.

Kayttotarkoituksen mukainen kaytto

Lavavaunut on tarkoitettu kuormien ja tavaroiden kuljettamiseen.

Kun vaunut eivat ole kdytdssé, ne on lukittava paikoilleen jarruilla.
Lavavaunuja on tyhjind tai kuormitettuina siirrettdva hitaasti ja tasaisesti,
jotta niiden tukevuus ei karsisi.

Kaltevilla pinnoilla pinnan kaltevuus ei saa ylittdd 2 % eikd vaunuissa saa
olla mitdan tavaroita.

Jaa kuorma aina tasaisesti.

Vaarat ja riskit

Painavien kuormien kuljetukseen liittyva vaara:
Lavavaunujen kasittelyssa tarvittava voima vaihtelee kuorman koosta, lattian
kunnosta ja lavavaunujen kunnosta riippuen.

Kielletty kaytto

— Lavavaunuja ei saa kayttdd alaméessa ylikuormittumisen ja hallittavuuden
menettamisen takia.

Lavavaunuja ei saa pysayttaa kaantamalla vetoaisa suoraan kulmaan.
Lavavaunuilla ei saa kuljettaa henkil6ita.

Lavavaunuja ei saa kayttda kayttotarkoituksissa, joissa nimelliskantokyky
saattaa ylittya.

Lavavaunuja ei saa vetdad moottoriajoneuvoilla.

Fl




Notice d’ utilisation

pour chariots plate-forme

Chariots-diables, chariots a plateaux, chariots modulaires, chariots
porte-bacs, chariots a tablettes, chariots a outils

Généralités

Le chariot plate-forme doit étre utilis€, entretenu et réparé selon les instruc-
tions du fabricant. Avant toute modification du chariot ainsi que tout équi-
pement d‘appareils auxiliaires, veillez a ce que ces interventions n‘entravent
pas la sécurité du chariot.

Les chariots livrés démontés doivent étre montés selon la notice de montage
ci-jointe.

Utilisation conforme

Le chariot plate-forme est destiné au transport de charges et de marchan-
dises.

Les freins de stationnement sont a bloquer quand le chariot n’ est pas utilisé.
Afin de ne pas entraver la stabilité du chariot plate-forme, celui-ci doit étre
déplace, chargé ou a vide, lentement et sans a-coups.

Sur les terrains en pente, I’ inclinaison ne doit pas dépasser 2 % et le chariot
plate-forme doit étre vide.

Veiller a assurer une répartition réguliere de la charge.

Risques

Risque lors du transport de charges lourdes :

Les forces nécessaires pour manipuler le chariot plate-forme varient en
fonction de la taille de la charge, de I’ état du sol et de I’ état du chariot
plate-forme.

Utilisation interdite

— Le chariot plate-forme ne doit pas étre utilisé dans des pentes en raison
du risque de surcharge et d’ une perte de contrdle.

— Le timon ne doit pas étre tourné a angle droit pour arréter le chariot pla-
te-forme.

— Le chariot plate-forme ne doit pas étre utilisé pour transporter des per-
sonnes.

— Le chariot plate-forme ne doit pas étre utilisé quand on court le risque de
dépasser la charge admissible nominale.

— Le chariot plate-forme ne doit pas étre tirés par un véhicule motorisé.

FR




Instructions

for platform trucks

utility carts, portable tables, combination carts, magazine trucks,
box trucks, shelf trucks, wire trucks

General requirements

The platform truck must be used, maintained and repaired in accordance
with the manufacturer’s instructions. It may not be altered or equipped with
attachments without making sure beforehand that it will still be safe.
Equipment supplied flat-pack must be assembled according to the assem-
bly instructions enclosed.

Proper use

The platform truck is intended for transporting loads and goods.

The parking brake must be set when the truck is not in use.

To avoid destabilizing the platform cart, it must be moved slowly and without
abrupt actions, whether loaded or not.

The platform truck may not be used on slopes with a gradient of more than
2 % and then only if unloaded.

Ensure to distribute the load evenly.

Acceptable risks

Dangers when moving heavy loads:
The necessary forces for handling the platform truck vary with the size of the
load, the condition of the floor and the condition of the platform truck itself.

Prohibited usages

— A platform truck may not be used on slopes owing to the possibility of
overloading and losing control.

— The drawbar may not be turned at a right angle to stop the platform truck.

— A platform truck may not be used to carry persons.

— A platform truck may not be used if there is a danger that the recommen-
ded carrying capacity could be exceeded.

- Platform truck may not be pulled by a motorized vehicle.




Hasznalati utasitas

platés kocsikhoz

Vonérudas kézikocsik, asztalkocsik, tobbcélu kocsik, raktari kocsik,
oldalfalas kocsik, emeletes kocsik, anyagszallité kocsik

Altalanos koévetelmények

A platés kocsikat a gyartd elbirasainak megfeleléen kell hasznalni, karban-
tartani valamint javitani. Valtoztatasok végrehajtasa, valamint a kocsi tovabbi
kiegészitbkkel vald felszerelése el6tt gy6zadjon meg arrdl, hogy a szerkezet
biztonsagos.

A szétszerelten szallitott termékeket a mellékelt 6sszeszerelési utmutatd
alapjan kell 6sszeallitani.

Rendeltetésszerii hasznalat

A platés kocsi terhek és rakomanyok szallitdsara szolgal.

Amennyiben nem hasznaljak a kocsit, a rogzitd fékek alkalmazasa ajanlott.
Annak érdekében, hogy a platés kocsi stabilitasat ne befolyasoljak, az
eszkdzt ugy Uresen, mint terhelt allapotban, lassan és egyenletesen kell
mozgatni.

A lejték vagy emelked6k dblésszdge nem haladhatja meg a 2 %-ot, és a ko-
csinak Uresnek kell lennie.

Kérjuk figyeljen az egyenletes teherelosztasra.

Egyéb veszélyek

Nehéz terhek széllitasakor fenndllé veszély:
A platés kocsi kezeléséhez sziikséges er6 mértéke a teher nagysagatél, a
talaj-, valamint a platés kocsi allapotatdl figgden valtozik.

Tilos:

— A platés kocsik lejtés utakon torténd hasznalata, a tulterhelés, €s annak
veszélye miatt, hogy elvesztik az ellendrzést a kocsi felett.

— A vonorudat a platdés kocsi megallitasa érdekében jobbra elforditani.

— A platés kocsit személyek szallitasara hasznalni.

— A platés kocsit olyan esetekben hasznalni, ha a névleges terhelhetdséqi
erték tullépésének veszélye all fenn.

— A platés kocsikat masik, motorizalt gépjarmdvel vontatni.




Istruzioni per I’ uso

per carrelli a pianale

Carrelli a pianale, carrelli a due ripiani, carrelli combinati , carrelli per
magazzini, carrelli con sponde, carrelli a piu ripiani, carrelli portautensili

Informazioni generali

Il carrello a pianale deve essere utilizzato, e sottoposto a manutenzione e
riparato conformemente alle indicazioni del produttore. Non deve essere
modificato oppure equipaggiato con accessori senza assicurarsi che la sua
sicurezza non venga pregiudicata.

Gli apparecchi smontati devono essere assemblati seguendo le istruzioni
per il montaggio accluse.

Istruzioni d‘uso

Il carrello a pianale serve per il trasporto di carichi e merci. Se non utilizzato,
azionare i freni di stazionamento.

Per non pregiudicarne la stabilita, il carrello a pianale vuoto oppure carico
deve essere spostato lentamente e senza scosse. In caso di superfici incli-
nate, la pendenza non deve superare il 2% e il carrello a pianale deve essere
scarico.

Assicurarsi che il carico sia ripartito uniformemente.

Rischi residui

Pericolo in caso di trasporto di carichi pesanti:

la forza necessaria per I’ uso del carrello a pianale varia a seconda delle
dimensioni del carico, delle condizioni del pavimento e dello stato del car-
rello.

Uso non consentito

— A causa della possibilita di sovraccarico e di perdita del controllo, il car-
rello a pianale non deve essere utilizzato su tratti in pendenza.

Per fermare il carrello a pianale non posizionare il timone ad angolo retto.
Il carrello a pianale non deve essere usato per il trasporto di persone.

Il carrello a pianale non deve essere impiegato per usi che comportano il
rischio di un superamento della portata nominale.

Il carrello a pianale non deve essere trainato da un veicolo motorizzato.

IT




Gebruiksaanwijzing

voor platformwagens

Platformwagens, tafelwagens, combiwagens, magazijnwagens,
bakwagens, etagewagens, materiaalwagens

Algemene eisen

De platformwagen moet volgens de gegevens van de fabrikant gebruikt,
onderhouden en gerepareerd worden. De platformwagen mag niet worden
veranderd of met aanbouwapparaten worden uitgerust indien het niet zeker
is dat hij nog steeds veilig is.

Losse onderdelen moeten aan de hand van de bijgeleverde montage-
handleiding worden gemonteerd.

Doelmatig gebruik

De platformwagen is bestemd voor het transporteren van lasten en goede-
ren.

De dubbele remmen op de zwenkwielen dienen te worden gebruikt wanneer
de wagen niet mag rijden.

Om de standveiligheid van de platformwagen niet te verminderen, moet
deze in beladen, als in onbeladen, toestand langzaam en zonder schokken
worden bewogen.

Bij aflopende vloeren mag de helling niet meer dan 2% bedragen en moet
de platformwagen onbeladen zijn.

Let op een gelijkmatige lastverdeling.

Overige risico‘s

Let op bij het transporteren van zware lasten:

het vereiste vermogen voor het gebruik van de platformwagen is afhankelijk
van het laadgewicht, de hoedanigheid van de vloer en de toestand van de
platformwagen.

Ongeoorloofd gebruik

- Een platformwagen mag op grond van de mogelijkheid van overbelasting
of controleverlies niet worden gebruikt op aflopende vloeren.

— De dissel mag niet haaks worden gedraaid om de platformwagen te stop-
pen.

— Een platformwagen mag niet worden gebruikt voor het vervoeren van
personen.

— Een platformwagen mag niet worden gebruikt wanneer gevaar bestaat
voor overschrijding van het nominale laadvermogen.

- Platformwagens mogen niet worden getrokken door een gemotoriseerd
voertuig.

NL




Bruksanvisning

for plattformvogner

Handtraller, bordvogner, kombivogner, magasinvogner,
kassevogner, etasjevogner, montasjevogner

Generelle krav

Plattformvognen ma brukes, vedlikeholdes og repareres i overensstemmelse
med produsentens opplysninger. Den ma ikke endres eller ustyres med
pamonterte aggregater, uten at man pa forhand kontrollerer at den alltid er
sikker.

Demonterte aggregater skal monteres i samsvar med den vedlagte monte-
ringsanvisningen.

Formalstjenlig bruk

Plattformvognen brukes til transport av last og gods.

Parkeringsbremsene skal settes pa nar den ikke er i bruk.

For at plattformvognens stabilitet ikke skal nedsettes, ma den beveges sakte
og uten rykk nar den er i ubelastet eller lastet tilstand.

Ved helling pa bruksflatene méa hellingen ikke overskride 2 %, og plattform-
vognen ma ikke veere lastet.

Kontroller at lasten er jevnt fordelt.

Resterende risikoer

Fare ved transport av tung last:
Den kraft som kreves for & handtere plattformvognen, varierer i henhold til
lastens starrelse, bakkens tilstand og plattformvognens tilstand.

Forbudt bruk

- P& grunn av muligheten for overbelastning og tap av kontrollen er det ikke
tillatt & bruke en plattformvogn pa strekninger med fall.

Draget ma ikke dreies i rett vinkel for & stanse plattformvognen.

Det er ikke tillatt & bruke en plattformvogn til & transportere personer med.
Det er ikke tillatt & bruke en plattformvogn til bruksformal hvor det er fare
for at nominell baereevne kan overskrides.

— Det er ikke tillatt a trekke plattformvogner etter et motorkjoretoy.




Instrukcja obstugi

wozkow platformowych

Reczny woézek ze skrzynig tadunkowa, wézek stotowy, woézek kombi,
wozek magazynowy, wozek skrzyniowy, wozek poétkowy, wozek na
poétwyroby

Ogodlne wymaganie

Wézek platformowy nalezy: uzywaé, utrzymywac¢ go w dobrym stanie i
naprawia¢ zgodnie z informacjami producenta. Nie mozna wprowadza¢ w
nim zmian lub wyposaza¢ w oprzyrzagdowanie doczepiane bez wtasciwego
zabezpieczenia.

Roztozone narzedzia nalezy ztozy¢ wedtug zatgczonej instrukcji montazu.

Stosowanie zgodne z przeznaczeniem

Woédzek platformowy stuzy do transportu réznych tadunkéw.

Hamulce postojowe nalezy uruchamiaé, gdy woézek nie jest uzywany.

Aby nie zaktécaé statecznosci wozka platformowego, nalezy w stanie zata-
dowanym lub nie zatadowanym porusza¢ go powoli i bez szarpania.

W przypadku pochylonych powierzchni nachylenie nie moze przekracz¢ 2 %
i wozek platformowy musi by¢ nie zatadowany.

Nalezy uwaza¢ na rbwnomierne roztozenie ciezaru.

Pozostate ryzyka

Niebezpieczenstwo w trakcie transportu ciezkich tadunkéw:
Sity niezbedne do manipulowania wézkiem platformowym zmieniajg sie w
zaleznosci od wielkosci tadunku, stanu podtoza i stanu wézka platformowe-

go.

Stosowanie niezgodne z przeznaczeniem

- Wozek platformowy nie moze by¢ uzywany na odcinkach drogi ze
spadkiem z powodu mozliwosci przecigzenia i utraty kontroli.

— Nie mozna przekreca¢ dyszla pod katem prostym w celu zatrzymania.

— Wozek platformowy nie moze by¢ stosowany do transportu osob.

— Wobzek platformowy nie moze by¢ uzywany w przypadku, gdy istnieje
ryzyko przekroczenia nosnosci znamionowe;j.

— Wézki platformowe nie mogg by¢ ciggniete przez pojazd silnikowy.

PL




Instrucoes de Uso

para carros de plataforma

carros plataforma de mao, carros de bancada, carros versateis, carros
de armazém, carros de caixa, carros de 2 niveis, carros de oficina

Requisito geral

O carro plataforma deve ser empregue, conservado e reparado de acordo
com as instrugcdes do fabricante. Nao deve ser modificado nem equipado
com acessorios, sem assegurar-se que permanece seguro em todas as
circunstancias.

Carros fornecidos desmontados devem ser montados conforme as instru-
¢des de montagem anexas.

Emprego conforme as prescricoes

O carro plataforma serve para o transporte de cargas e objectos.

Quando o carro nao é usado devem ser accionados os travées de bloqueio.
Para nao prejudicar a seguranca do carro de plataforma, o mesmo deve ser
movido devagar e sem solavancos, tanto com e sem carga.

Nos trajectos inclinados o declive ndo deve ultrapassar os 2 % e o carro de
plataforma deve estar sem carga.

Ha que ter em atencéo a distribuicdo uniforme da carga.

Riscos residuais

Risco no transporte de cargas pesadas:
as forcas necessarias para a manobra do carro de plataforma variam em
funcao do tamanho da carga, do estado do piso e sua condicao.

Emprego inadmissivel

— Por motivo da possibilidade de uma sobrecarga e da perda do controlo,
o carro de plataforma n&o deve ser empregue em trajectos com declive.

— N&o se admite girar a lanca ao angulo recto a fim de parar o carro de
plataforma.

— Nao se admite empregar o carro de plataforma para o transporte de pes-
soas.

— Nao se admite empregar o carro de plataforma em situagcdes onde ha
risco de ultrapassar a sua capacidade nominal.

— Os carros de plataforma ndo devem ser movidos por um veiculo motori-
zado.

PT




VlHCprKLl,I/IFI Nno 3Kcnayatauymnn

nnathopMeHHbIX Tenexek

Py‘-IHbIe rPy3o0Bbie TeJIeXXKHN, TENIEXKU-CTOJINKUN, YHNBEpPCaJibHbIe
TeJNleXXKU, cKilaackue TesieXkkKku, TeJieXXxkm € AlnKom ans
MNacTMacCcoBOro JIoTKa, TeJIEXXKUN-3TaXXEepPKU, TeJieXKKn gna MmacrtepCckmnx

O6wme TpeboBaHuUA

MnathopMeHHas Tenexka [AOSKHA WCNOJSb30BaTbCsA, COAEPXATbCA B
MCNPaBHOM COCTOAHUM W MOABEPraTbCA PEMOHTY B COOTBETCTBUM C
yKazaHusMu n3rotoBuTens. Ee Henb3s nogsepratb nepeaesnke nnv ocHalaThb
NOMNONHUTENbHBIMU YCTPOMCTBaMU, He ybeaMBLUMCL B Ge30MacHOCTU ee
MCMOJIb30BaHUA.

MoHTax pa300paHHbIX YCTPOWCTB cliefyeT NMpou3BOANTb B COOTBETCTBUN C
npunaraemMon UHCTPYKLMEN MO MOHTaxYy.

MUcnonb3oBaHue yCTpOVICTBa B COOTBETCTBMU C €ro Ha3dHa4yeHunem

MnatdopMeHHana Tenexka npegHasHavyeHa AsA TPAHCMOPTUPOBKM TPy30B U
MaTepuanos.

Korpa Tenexka He MCNonb3yeTcs, HeOOGXOAMMO BKJIIOYMTb TOPMO3 CO
CTOMOPHBIM YCTPOVCTBOM.

YT106bI He yxyaLlaTb YCTONYMBOCTb MAATHOPMEHHON TENEXKHN, ee HEOOXOAMMO
nepemMeLLaTb B MOPOXHEM WM FPY>KEHOM COCTOAHUN MedSIEHHO 1 6e3 PbIBKOB.
[MPpN HAKMOHHbIX MOBEPXHOCTAX HAKMAOH He AOJSIXXeH npeBbllwaTb 2%, a
nnaTtPopMeHHas Tenexka [0MXKHa OblTb MOPOXKHEN.

ObpallainTe BHMMaHME Ha paBHOMEPHOe pacrnpeneneHme Harpy3ku.

OcTaTo4Hble pUCKU

OnacHOCTb NPU TPAHCMOPTUPOBKE TAXESbIX MPY30B:

Heobxoaumble ons obpaulieHns C naaTOpMeHHOM Tenexkon ycunma
BapbVPYIOTCA B 3aBUCUMOCTM OT BENIMYMHBI TPYy3a, COCTOSHUA MOBEPXHOCTL U
COCTOAHNA NNATHOPMEHHON TENEXKMN.

3anpeu.|eHHb|e BUAbl NCMOJ1b30BaHUA

— [MnaTtpopMeHHyto Tenexky B CBA3M C BO3MOXHOCTbIO Meperpy3ku 1 notepu
KOHTPOA HeMb3A MCMOMb30BaTh Ha OMACHbIX y4acTKax.

— TAroBoe yCTPOWCTBO HeJb3s MOBOPaYMBaTh B MpaBbli yrofl, HTOObl OCTAHOBUTb
NNaTHOPMEHHYIO TENEXKY.

— [MnaThopMeHHYIO Tenexky Henb3A MCNOoMb30BaTb AJA TPAHCMNOPTUPOBKMN
nogen.

— naTopMeHHYIO TenexXKy Hesib3A WUCMOMb30BaTb B Tex Ciyvadx, Korga
CYLLIECTBYET OMaCHOCTb MPEBbILLEHNA HOMWUHANBHON rPY30MNOABEMHOCTU.

— [MnatdopMeHHble TeNEXKN Hemnb3sA nepemMelliaTb C MOMOLLbIO CHAOXEHHbIX
ABUraTesieM TPaHCMOPTHbIX CPeacTB.




Bruksanvisning

for plattformsvagnar

Handtransportvagnar, platdvagnar, kombivagnar, magasinvagnar,
lddvagnar, hyllvagnar, vagnar for arbetsstycken

Allmanna krav

Plattformsvagnen ska anvandas enligt tillverkares uppgifter och underhallas
och repareras pa av tillverkaren foreskrivet satt. Den far inte férandras eller
utrustas med pabyggnader utan att man forst har évertygat sig om att
vagnen ar absolut sdker.

Demonterade vagnar ska monteras ihop enligt den bifogade monterings-
anvisningen.

Foreskriven anvandning

Plattformsvagnen ar avsedd for att transportera laster och gods.

Om vagnen inte anvands ska parkeringsbromsen aktivieras.

For att sakerstalla plattformsvagnens stabilitet ska den alltid flyttas langsamt
och utan ryck, bade nar den ar tom och nar man transporterar en last med
den.

Plattformsvagnen maste vara tom nar den anvands pa lutande ytor och
lutningen far inte vara stérre an 2 %.

Se till att lasten férdelas jamnt.

Faror och risker

Risk vid transport av tunga laster:
De krafter som behdvs for att hantera plattformsvagnar varierar i férhallande
till hur stor lasten ar, golvets tillstdnd och plattformsvagnens tillstand.

Ej tillaten anvandning

- P& grund av mojligheten att 6verbelasta plattformsvagnen far den inte
anvandas pa stallen som lutar nedat, eftersom man da latt kan forlora
kontrollen 6ver den.

— Dragsténgen far inte svangas i en rat vinkel for att stoppa plattformsvag-
nen.

- Plattformsvagnen far inte anvandas till att transportera personer.

— All anvandning dar det finns risk fér att plattformsvagnens nominella bér-
formaga Overskrids ar forbjuden.

- Plattformsvagnar far inte dras med hjalp av motorfordon.




Navodilo za uporabo

ploskega vozicka

roc¢ni ploski vozic¢ki, mizni vozi¢ki, kombinirani vozicki, SkladiS¢ni
vozic€ki, zaprti Skatlasti vozicki, nivojski vozicki, voziCki za orodje

SplosSne zahteve

Uporabljajte, vzdrzujte in popravljajte ploski vozic¢ek v skladu z navodili pro-
izvajalca. Ne spreminjajte vozi€ka in ga ne opremljajte z dodatnimi naprava-
mi, Ce se prej ne prepri¢ate, da je to povsem varno.

Sestavite razstavljeni vozicek po prilozenih navodilih.

Namenska uporaba

Ploski vozi€ek sluzi za transport bremen in materiala. Kadar vozi¢ek ni v
uporabi, morajo biti vkljuCene zavore (oz. zavori). Da ne bi zmanjsali stabil-
nosti voziCka, pomikajte obremenjen ali neobremenjen vozi¢ek pocasi in
enakomerno. Pri voznji po strmini naklon ne sme presegati 2 % in voziCek
ne sme biti obremenjen.

Poskrbite za enakomerno porazdelitev teze.

Ostale nevarnosti

Nevarnost pri transportu tezkega tovora: sila, potrebna za upravljanje
voziCka, je odvisna od mase tovora, lastnosti podlage in stanja vozi¢ka.

Prepovedana uporaba

— Vozicka zaradi moznosti preobremenitve ali izgube nadzora nad njim ne
smete uporabljati na strmini.

— Ne obracajte ojnice pod pravim kotom z namenom, da bi zadrzali voziCek.

— Vozi€ka ne smete uporabljati za prevoz oseb.

— Ne uporabljajte vozi¢ka v namene, pri katerih je nevarnost, da pride do
preobremenitev.

— Vozi¢ka ni dovoljeno vle€i z motornim vozilom.

SI




Navod na pouzitie

plosinového vozika

Rucne vedeny plosinovy vozik, stolovy vozik, kombinovany vozik,
vozik so zasobnikom, dodavka, etazovy vozik, vozik na obrobky

VSeobecné poziadavky

Vozik musi byt pouzivany, udrzovany a opravovany v sulade s udajmi vyrob-
cu. Nesmu na fnom byt vykonavané Upravy a nie je mozné ho dovybavovat
pridavnymi zariadeniami.

Demontované zariadenia je nutné zmontovat podla prilozeného montazneho
navodu.

Pouzitie v sulade s uréenym ucelom

Valnik sluzi k doprave nakladov a tovaru.

V pripade, Ze vozik nepouzivate, je nutné ho zabrzdit ru¢nou brzdou.

Aby nebola ovplyvnena stabilita vozika, musi byt jeho pohyb v nenalozenom
alebo nalozenom stave pomaly a plynuly.

U naklonenych pléch nesmie sklon presahovat 2% a vozik nesmie byt
nalozeny. Je nutné dbat na rovnomerné rozdelenie zataze.

Ostatné rizika

Riziko pri preprave tazkych bremien:
Sily potrebné pre manipulaciu s valnikom sa liSia v zavislosti na velkosti
nakladu, stave podlahy a stave vozika.

Zakazané pouzitie

— Vozik nesmie byt kvéli riziku pretazenia a straty kontroly pouzivany na
naklonenych usekoch.

— Oje nesmie byt natacené do praveho uhla, aby bolo mozné valnik zastavit.

— Vozik nesmie byt pouzivany pre ucely, pri ktorych existuje riziko prekroCenia
menovitej nosnosti.

— Voziky nesmu byt tahané motorizovanym vozidlom.




Platformiu Arabalar

Kullanma Kilavuzu

El arabalari, Servis arabalari, Cok amach arabalar, Tasima arabalari,
Kasali arabalar, Kath arabalar, Alet arabalari

Genel Bilgiler

Platformlu arabalarin kullanimi, bakimi ve onarimi tretici firmanin talimatlarina
riayet edilerek yapilacaktir. Platformlu arabalarin Gzerinde degisiklik yapmak
veya guvenli olup olmadigi kesin olarak belirlenmeyen ek donanimlari monte
etmek yasaktir.

Demonte olan arabalar ekteki montaj kilavuzunda gdsterilen bilgilere goére
monte edilir.

Kullanim Amacina Uygun Kullanma

Platformlu arabalar yik ve mallarin taginmasinda kullanilir.

Araba kullaniimadiginda freni ¢ekilebilir.

Platformlu arabalarin durma emniyetini etkilememek icin araba, yUkli veya
bos durumdayken yavasca ve ani hareket ettirmeden hareket ettirilecektir.
Egimli yollarda egim orani % 2’den fazla olmamali ve arag yukli olmamaldir.
YUklenecek ylkin araba Uzerine esit sekilde dagitiimasina dikkat edilmelidir.

Riskler

AQir yUklerin tasinmasinda ortaya ¢ikacak tehlikeler:

Platformlu arabalari kullanmak icin sarf edilecek kuvvet; tasinacak yukin bu-
yUkligu, zeminin 6zelligi ve platformlu arabalarin durumuna gére farklilik
gosterir.

Yasak Olan Kullanimlar

Platformlu arabalarin, asirn ytiklenme ve kullanicinin araba Uzerindeki kon-
trolinU kaybedebilme riskinden dolayi yokus asagi kullaniimasi yasaktir.
Platformlu arabalarin durdurulmasi icin cekme kolunun dikey konuma geti-
rilmesi yasakitir.

Platformlu arabalarin insan tasima icin kullanilmasi yasaktir.

Platformlu arabalarin, belirtilen tasima kapasitesini asma tehlikesi olan
durumlarda kullanilmasi yasaktir.

— Platformlu arabalarin motorlu arac tarafindan ¢ekilmesi yasaktir.







Form-Nr. 1790 02/2013

BEG GmbH
Presselstrafle 12
70191 Stuttgart

Germany




Montage-Anleitung

fiir Plattformwagen Serie W 300

Sie haben Ihren neuen Plattformwagen zerlegt — deshalb sehr frachtgiinstig —
erhalten.

Die Montage ist ganz einfach, siehe Skizze:

Schiebebigel und gegebenenfalls Seitenwéande mit der Krépfung nach auBen
in die Aussparung der Ladefldche stecken und mit den beiliegenden Schrauben
M 12 und U-Scheiben von unten fest verschrauben.

Traverse mit Lenkrollen unter den Fahrrahmen auf der Schiebeblgelseite mit den
Schrauben M 12 und U-Scheiben fest verschrauben.

Traverse mit Bockrollen auf der gegentberliegenden Seite unter den Fahrrahmen
mit den Schrauben M 12 und U-Scheiben fest verschrauben.

Schlussel liegt bei.

Schiebebuigel

l Fahrrahmen

| /

L- o Prroee zﬂ/

o —

-‘L Traverse mit 4 Traverse mit

1} 4 Lenkrollen Bockrollen
U-Scheibe + Schraube M 12

H =
+ 4
4\

Ihr neuer Plattformwagen ist einsatzbereit.




Navod k montazi

pro plosinovy vozik série W 300

Obdrzeli jste svlj novy ploSinovy vozik rozebrany, coz je velmi vyhodné pro
dopravu.

Montaz je docela jednoducha, viz nacrtek:

Manipulaéni rukojet’ a pfipadné boc&ni stény s vyhnutim smérem ven zasunout do
vyrezU lozné plochy a zespodu pevné priSroubovat Srouby M 12 s U-podlozkami,
které jsou soucasti dodavky.

Pod podvozkovym ramem na strané manipulacni rukojeti pevné priSroubovat
pri¢nik s vodicimi kladkami pomoci Sroubd M 12 a U-podlozek.

Na protilehlé strané pod podvozkovym ramem pevné priSroubovat pficnik s pev-
nymi kladkami pomoci $roubl M 12 s U-podlozkami.

Kli¢ je soucasti dodavky.

manipulacni rukojet’

podvozkovy ram

=

|
¢ /
i }
!

pficnik s 4 pficnik s
4\ vodicimi kladkami pevnymi kladkami

4 U-podlozka Ssroub M 12

, F
4 4
4

Vas novy ploSinovy vozik je pfipraveny k pouZziti.




Monteringsvejledning

for platformsvogn Serie W 300

For at gore leveringen lettere, har De modtaget platformsvognen umonteret.

Monteringen er ganske enkel - se skitse.

Gavlbgjlen og hvis der forekommer sidestykker, som skal veere vendt mod
ydersiden, placeres i udfraesningen pa vognbunden og skrues fast fra undersiden
med vedlagte M 12 skruer og laseskiver. Styrehjulene placeres under handtaget
pa vognrammen og skrues fast fra undersiden med M 12 skruer og laseskiver.
De faste hjul placeres pa modsatte side og skrues fast fra underside med M 12
skruer og laseskiver.

Nogle folger med skruenogue medfolger.

Gavlbgjle

Vognramme

o=

|
|
¢ /
- 4
!

i

4 Styrehjul Faste hjul

4 L&seskiver T Skruer M 12

, -
4 4
4\

Deres nye platformsvogn er klar til ar tage i brug.




Instrucciones de montaje

para carro de plataforma Serie W 300

Usted ha recibido su nuevo carro desmontado.

El montaje es muy sencillo, vea croquis:

Colocar la pieza frontal y, en su caso, las paredes laterales con el acodamien-to
hacia fuera en los escotes de la superficie de carga y sujetarla firmemente desde
abajo con los tornillos M 12 y las arandelas en forma de U. Sujetar firmemente el
travesano con las ruedas orientables debajo del chasis en el lado de la manija,
usando los tornillos M 12 y las arandelas en forma de U.

En el lado opuesto, atornillar el travesano con las ruedas de caballete debajo
del chasis.

Se adjunta una llave apropiada.

Pieza que sirve
de manija

Chasis

e

|
|
¢ /
- 4
!

Traversario con 4 Traversafio con
4\ ruedas orientables ruedas de caballete

Arandela U T Tornillo M 12

H i
¥ 4
4

Su nuevo carro esta listo para su uso.

ES




Asennusohje

sarjan W 300 tasovaunuille

Tasovaunu toimitetaan osina jotta kuljetus olisi helpompi.

Asennus on yksinkertaista-katso kuvaa.

Kahva ja mahdolliset sivulevyt jotka ovat ulospéin k&&nnetyt,sijoitetaan kuorma-
tason hahloihin ja ruuvataan alapuolelta kiinni mukana seuraavilla M 12 ruuveilla
ja lukitusprikoilla.

Kaantyvat pydrat asetetaan runkoon kahvan alle ja ruuvataan alapuolelta kiinni
M 12 ruuveilla ja lukitusprikoilla.

Kiintedt pyorat sijoitetaan vastakkaisilla reunoille ja ruuvataan alta kiinni M 12
ruuveilla ja lukitusprikoilla.

Tyo6kalu sis.toimitukseen.

kahva

runko

=

|
|
¢ /
=
!

Lt Ell
) kéantyvit pyorét @kﬁnmét pyérat
o + .
lukitusprikka ruuvi M 12

-
}

&
L
}

Uusi tasovaununne on kayttévalmis.




Notice de montage

chariot plate-forme série W 300

Votre nouveau chariot plate-forme est arrivé!

Son montage est trés simple:

Positionnez la barre de poussée dans les évidements de la plate-forme, coude
du tube vers I'extérieur. Faites de méme avec les panneaux latéraux éventuels.
Vissez le tout par le dessous a I'aide des boulons M 12 et des rondelles.
Montez les traverses avec roulettes pivotantes sous le chéssis, du c6té de la
barre de poussée, les traverses avec roulettes fixes du coté oppose. Utilisez pour
cela les boulons M 12 et les rondelles.

Clé de montage jointe a la livraison.

Barre de poussée

l Chaéssis
i /
L- b Ao zﬂl
=
-‘L Traverse avec 4 Traverse avec
1} 4\ roulettes pivotantes roulettes fixes
.+.
Rondelle Boulon M 12

. -
' 4
4

Votre chariot plate-forme est prét a 'emploi!




Assembly instructions

for platform truck series W 300

Your new platform truck is supplied with a removable bolt-on push handle to
reduce transport charges.

Assembly is quite simple; see sketch:

Insert the push handle (and side panels, if on order) with the angled upper part
facing outside into the recesses in the platform and fix them from beneath by the
bolts M 12 and washers enclosed.

Fix the traverse with the swivel castors to the chassis an the push handle side
with bolts M 12 and washers.

Fix the traverse with the fixed castors on the opposite of the chassis with bolts
M 12 and washers.

The correct spanner is enclosed.

Push handle

l Chassis
| /
— 4
. e
-‘L Traverse with 4 Traverse with
1} 4 swivel castors fixed castors
+.
Washer Bolt M 12

H =
+ 4
4\

Your new platform truck is ready to use.




Szerelési utmutato

W 300 sorozatu raktari kocsihoz

On Uj raktari kocsijat — a szallitds szempontjabél nagyon elénydsen — szétszerelt
allapotban kapta.

Az 6sszeszerelés rendkiviil egyszerti, lasd az abrat:

Dugja bele a fogantyut a kénydkhajlitassal kifelé, adott esetben az oldalfalakat
is a rakfellileten 1évé lyukba, és a mellékelt M 12 csavarokkal és U-alatétekkel
alulrél szorosan csavarozza be.

A kereszttartét a beallé gérgbkkel a fogantyu feléli oldalon az alvazkeret ala kell
M 12 csavarokkal és U-alatétekkel szorosan odacsavarozni.

A fix gérgbs kereszttartot a szemkdzti oldalon kell az alvazkeret ala M 12
csavarokkal és U-alatétekkel szorosan odacsavarozni.

Csavarkulcs mellékelve.

\
Fogantyu
l Alvazkeret
y /
L- b Lt zﬂl
=t
-‘L Kereszttarto bealld 4 Kereszttarto
1} 4\ gorgbkkel fix gorg ékkel
o +
U-alatet Csavar M 12

. -
' 4
4

Az Uj polcos kocsi hasznalatra kész.




Istruzioni di montaggio IT

per carrello a pianale serie W 300

Il carrello a pianale viene consegnato smontato, in modo da facilitarne il trasporto.

Il montaggio, illustrato nello schizzo, &€ molto semplice:

Inserire I‘impugnatura e le eventuali sponde con la piegatura a gomito rivolta
verso l‘esterno negli appositi fori ricavati nel pianale e fissando bene le viti M 12
e le ralle a U. Fissare il supporto delle rotelle pivottanti sul lato dell’impugnatura
sotto il pianale, utilizzando le viti M 12 e le ralle a U.

Avvitare le rotelle a supporto fisso sul lato opposto del pianale, utilizzando le viti
M 12 le ralle a U.

La chiave € inclusa nella confezione.

Impugnatura

l Pianale
i /
L- b Ao zﬂ/
=t
-‘L Supporto con rotel- 4 Supporto con
! ) le pivottanti rotelle fisse
+ .
Ralla a U Vite M12

H i
¥ 4
4\

Il Vostro nuovo carrello a ripiani € ora pronto per I’'uso.




Montage-instructie NL

voor platformwagen serie W 300

U heeft uw nieuwe platformwagen gedemonteerd ontvangen.

De montage is heel eenvoudig (zie montageschets):

De duwbeugel en de eventuele zijwanden met de omgebogen bovenkant naar
buiten, in de uitsparingen van het laadvlak steken en met de bijgeleverde bouten
M 12 en veerringen aan de onderzijde stevig vastdraaien. Traverse met zwenk-
wielen onder het rijfframe aan de duwbeugelzijde met de bouten M 12 en veerring
vastdraaien.

Traverse met bokwielen aan de tegenoverliggende zijde tegen het rijframe met
de bouten M 12 en veerringen vastdraaien.

Sleutel bij levering inbegrepen.

Duwbeugel

l Wagenframe
! /
L- b Ao Eﬂ/
o —
i Traverse met 4 Traverse met
1} 4 zwenkwielen bokwielen
. +
Veerring Bout M 12

H =
+ 4
4\

Uw nieuwe platformwagen is klaar voor gebruik.




Monteringsanvisning

for plattformvogner serie W 300

Dere har fatt levert en plattformvogn i deler, det er fordi den da er lettere og
frakte.

Monteringen er enkel - se tegningen.

Handtaket og sideveggene (pa noen vogner) plasseres i det utfreste sporet pa
lasteplaten og skrus fast p& undersiden med vedlagte M 12 skruer og muttere.
De svingbare hjulene plasseres under handtaket pa vognrammen og skrus fast
pa undersiden med M 12 skruer og muttere. De faste hjulen monteres pa motsatt
side og skrus fast pa undersiden med M 12 skruer og muttere.

Verktoy folger med.

Héandtaksboyle

Vognramme

=

|
|
¢ /
- 4
!

i

4\ Svingbare hjul Faste hjul

Mutter T Skrue M 12

H i
¥ 4
4

Deres nye plattformvogn er na klar til bruk.




Instrukcja montazu

wozka pietrowego serii W 300

Wdzek dostarczony jest Panstwu w czesciach — co utatwia transport i obniza
jego koszty.

Montaz jest zupetnie prosty, patrz szkic:

Patak do przemieszczania i, jezeli sg Scianki wzdtuzne, wetkng¢ zagieciem
na zewnatrz w wyztobienie znajdujgce sie w powierzchni fadunkowej i mocno
przykreci¢ go od dotu zatgczonymi srubami M 12 z podktadkami.

Srubami M 12 z podktadkami przykrecié trawerse z kétkami skretnymi, u dotu,
do ramy jezdnej po stronie patgka do przemieszczania.

Trawerse z kétkami wsporczymi przykreci¢ sSrubami M 12 z podktadkami po
przeciwnej stronie, u dotu ramy jezdnej.

Klucz w zataczeniu.

patak do
przemieszczania

rama jezdna

=

|

|

¢ /
: - 4
!

trawersa z 4 trawersa z
4 kdtkami skretnymi kétkami wsporczymi

podkiadka T Sruba M 12

. P
' 4
4\

Panstwa nowy wézek jest gotowy do uzytku.

PL




PT

Instrucoes de montagem

para carros de plataforma da série W 300

Recebeu o seu carro de plataforma em pecgas.

A montagem é extremamente simples, conforme o esquema:

Introduzir o arco de empurrar e, dado o caso, os painéis laterais com a curvatura
para fora no entalhe da superficie de carga e aparafusa-lo bem por baixo com
os parafusos M 12 e os discos U fornecidos conjuntamente.

Fixar a travessa com as rodas orientaveis do lado oposto por baixo do chassi
com os parafusos M 12 e os discos U. A respectiva chave esta incluida no
fornecimento.

Arco de empurrar

l Chassi
| /
— 4
. e
-‘L Travessa com 4 Travessa com
1} 4\ rodas orientaveis rodas fixas

, +

Disco U Parafuso M 12

H i
¥ 4
4

O seu novo carro de plataforma esta operacional.




WHCcTpYKUMa no coopke nnatthopMeHHON TENEXKU CEpUn

W 300

AN ynpolleHns TpaHCNOPTMPOBKM NaaTopMeHHas Tenexka MocTaBnsaeTcs B
pa3obpaHHOM BUSE.

Ee c60opKka He npeacTaBnseT TpyAa — CM. 3CKU3

BBegunTe pyyky 1 OOKOBbIE CTEHKM, MPW HaMYUK TaKOBbIX, M3rMOOM Hapy>y B na3
B rpy30BOV Nnatdopme 1 MPOYHO MPUBMHTUTE €€ CHWU3Y, UCMOMb3ys BXOAALINE B
koMnnaekT 6onT M 12 n nogknagHble U-obpa3Hble Lanbbl.

C nomoubto 60nToB M 12 1 U-00pa3HbIx Wanbd NpoYyHO NPUBMHTUTE MONepeynHy
C HaNpaBAALMMM POSIMKAMU K HUXKHEN MOBEPXHOCTU MPy30BOM NAaTOpMbl Ha
CTOPOHE PY4KN.

3aTem, ncnonb3ysa 6ontel M 12 1 nogknagHble U-oOpa3Hble Wanbbl, MPOYHO
NPVBUHTUTE NOMEepPeYnHy C ONOPHbIMU POINKAMU K HUXKHEN 4aCTWU Fpy30BOW
nnaTopMbl Ha MPOTMBOMOSIOXKHOM CTOPOHE.

[@eYHbIM K04 BXOAUT B KOMMEKT MOCTAaBKMU.

Pyuka

XoaoBas pama

/
/

|
|
i T
4

lNonepe4mnHa [NonepeyrHa
HanpaBNALLMMUK C OMNOPHbIMU
4\ pPOSIKamu pPOJIKaMMn
1
U-obpa3Has wanba Bont M 12

H =
+ 4
4

Nocne 310roO I'IJ'IaTdJOpMeHHaFI TeJieXKKa rotoBa K akcrijltyataumn.




Monteringsanvisning

for plattformsvagn serie W 300

Ni har fatt er plattformsvagn i delar, darfér ar den latt att frakta.

Monteringen ar ganska enkel - se skiss.

Handtagsbygeln och i férekommande fall sidovaggar som ar béjda mot utsidan,
placeras in i urfrasningen pé lastytan och skruvas fast underifrdn med bilagda M
12 skruvar och lasbrickor. Lankhjulen placeras under hand-taget pa vagnsramen
och skruvas fast underifrdn med M 12 skruvar och lasbrickor.

De fasta hjulen placeras pa motsvarande sida och skruvas fast underifrdn med
M 12 skruvar och Iasbrickor.

Nyckel medfdljer.

Handtagsbygel

Vagnram

=

|
|
¢ /
- 4
!

i

) Lénkhjul Fast hjul

4 Lésbricka T Skruv M 12

, -
4 4
4\

Er nya plattformssvagn ar klar att tas i bruk.




Navodila za montazo

vozicka za prevoz tovora serije W 300

Dobili ste svoj novi voziCek za prevoz tovora v razstavljeni obliki, kar je ugodno
za tovor.

Montaza je povsem enostavna, glejte skico:

Pomicni roCaj in po potrebi stranico s prevojem navzven vstavite v odprtino
nakladalne povrsine in s priloZzenimi vijaki M 12 in U-podlozkami od spodaj trdno
privijte.

Prec¢nik z vodilnimi valjCki trdno privijte pod okvir na strani pomi€¢nega rocaja.
PreCnik z vodilnimi valjcki trdno privijte pod okvir na nasprotni strani. Kljuc je
prilozen.

Pomicni rocaj

l Okvir

! /

L- b Ao Eﬂl

b

i Precnik z } Precnik z valji v

1} 4\ vodilnimi valj ki nevrtljivih vilicah
U-podlozka Vijak M 12

H i
+ 4
4

Vas novi vozicek za prevoz tovora je pripravljen za uporabo.




Navod na montaz

pre plosinovy vozik série W 300

Obdrzali ste svoj novy ploSinovy vozik rozobrany, ¢o je velmi vyhodné pre
dopravu.

Montaz je celkom jednoducha, vid nacrtok:

Manipula¢nu rukovat a pripadne bo¢né steny s vyhnutim smerom von za-sunte
do vyrezov loznej plochy a zospodu pevne priskrutkujte skrutkami M12 s
U-podlozkami, ktoré su su€astou dodavky.

Pod podvozkovym ramom na strane manipulacnej rukovate pevne priskrutkujte
prieCnik s vodiacimi kladkami pomocou skrutiek M12 a U-podloziek.

Na protilahlej strane pod podvozkovym ramom pevne priskrutkujte priecnik s
pevnymi kladkami pomocou skrutiek M12 s U-podlozkami.

KIUcC je suCastou dodavky.

manipulacna rukovéat

podvozkovy ram

==

—H| =—F=
]

/
/
Ao zﬂ
priecnik s 4 priecnik s
4 vodiacimi kladkami pevnymi kladkami
U-podloZk +
4 -podlozka | Skrutka M12

, -
4 4
4\

Vas novy ploSinovy vozik je pripraveny k pouZzitiu.




Platform arabasi Seri W 300 i¢in

montaj talimat

Yeni platform arabasini parcalarina ayirdiniz — bu nedenle sevkiyata uygun
sekilde - teslim almis oldunuz.

Montaji cok basit, bakiniz resim:

itme kolunu ve gerektiginde yan duvarlar dirsekle birlikte disari gelecek sekilde
yikleme alaninin yuvasina takiniz ve birlikte verilen M 12 civatalar ve U pullar ile
alttan sikica baglayiniz.

Sevk makarali traversi, saryo gercevesi altinda itme kolu tarafinda M12 civatalar
ve U pullar ile sikica baglayiniz.

Blok makarali traversi, karsi tarafta saryo cergevesi altinda M12 civatalar ve
U pullar ile sikica baglayiniz. Anahtar birlikte verilmistir.

\
Itme kolu

l saryo

y /

L— b Prroee zﬂl

=t

-‘L Sevk makarali 4 Sevk makarali
1} 4 travers travers

+.
U pul Civata M 12

. -
' 4
4\

Yeni platform arabaniz kullanima hazirdir.







